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BIHAR BOARD QUESTION PAPER

INTERMEDIATE EXAMINATION - 2014
setHIf3Ue gdtem - 2014

(ANNUAL / arfi®)

ACCOUNTANCY
Time: 3 Hours 15 Minutes [Full Marks: 100

PART - A
1. Give two examples of capital expenditure.
2. What are the two important sources of income of no profit organisations ?

3. In the absence of partnership deed, in which ratio do the partners share the profit and
loss?

4. Give the formula of calculating Gaining Ratio.

5. State any three methods of valuation of goodwill.

6. What is the new profit sharing ratio?

7. Give the formula of calculating goodwill under average profit method.

8. When is Partner's Executor's Account prepared?

9. Mention the items which are debited to deceased Partner's Capital Account.

10. On dissolution of a firm, out of proceeds received from the sale of assets who will be
paid first of all?

11. Subscription received during the year 2013, Rs. 30,000. Subscription Rs. 20,000 was
outstanding at the end of the previous year. Calculate the income from subscription for
the year 2013.

12. What is Profit and Loss Appropriation Account?

13. Ram and Rahim are partners. Ram invested Rs. 2,00,000 and Rahim Rs. 2,50,000. In
the absence of partnership deed distribute the profit Rs 50,000 to each partner.

14. What is meant by reconstitution of partnership firm?

15. What do you mean by normal profit and super profit ?
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16. Rajratan and Mrityunjay who share profit in the ratio of 3:2 admit Shashi to give him
% share. Calculate the new profit & loss sharing ratio

17. What Journal entry will be recorded for the amount payable to deceased partner?

18. On dissolution, what entry is passed if a partner takes over an asset of the firm?

19. State four features of Receipts and Payments Account.

20. State four features of partnership.

21. Explain three factors affecting goodwill.

22. Distinguish between Average Profit Method and Super Profit Method of calculating
goodwill. https://www.bsebstudy.com

23. How will you calculate the amount due to a deceased partner?
24. A, B and C are partners sharing the profit in the ratio of 3:2:1. They admit D for % th
share. It is agreed that C would retain his original share Calculate New Ratio.

25. P. Q and R are partners sharing profits in the ratio of 5: 4:3. Q retires and his share
was divided equally between P and R. Calculate new profit sharing ratio of P and R.

26. Distinguish between dissolution of partnership and dissolution of firm.

27. Receipts and Payments A/c of Maitree Club for the year ended March 31, 2013,
shows that the subscriptions received were Rs. 25.000. Additional information are as
follows:

1.4.2012 1.4.2013

Rs. Rs.
Outstanding subscriptions 5,000 3,500
Subscription received in advance 2,500 3,000

Ascertain the amount of income from subscription for the year 2012-13 and show how
relevant items of subscriptions appear in Opening and Closing Balance Sheet.

28. In what circumstance can a firm be dissolved?

29. A, B and C are equal partners. Their fixed capitals as on 1st April, 2012 were A Rs.
10,000. B Rs. 20,000 and C Rs. 30,000. Profits for the year 2012-13 amounted to Rs.
12,000 which were distributed. Give the necessary Journal entries if interest on capital
was credited @ 10% p.a. instead of 12% p.a.

30. X, Y and Z are partners in a firm in the ratio of 3:2:1. On 1st April. 2013 they
decided to share profits in future in the ratio of 7:5: 4. On that date general reserve is Rs.
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76,000 and profit on revaluation of assets and liabilities being Rs. 68,000. It was decided
that adjustment should be made without altering the figures in the Balance Sheet. Make
adjustment by one Single Journal entry.

31. A. B and Care partners sharing profits and losses equally. They dissolved the firm on
30th December, 2013 on which date their positions were as under:

Balance Sheet as on 30th December, 2013

Liabilities Rs. Assets Rs.
Creditors 60,000 Fixed Assets 1,00,000
Capital A/c:" Rs. Current Assets 40,000
A 30,000 Cash at Bank 10,000
B 30,000
C 30.000 | 90,000

1,50,000 1,50,000

All the assets realise less than 10% book value. Creditors were paid in full. Expenses of
realisation amounted to Rs. 500. Prepare Realisation account, Partners' Capital account
and cash or blank account.

PART-B
32. State any two features of a company.
33. State the ways of redemption of debentures.
34. State two objectives of Financial Statements.
35. State two limitations of analysis of Financial Statement.
36. State two objectives of ratio analysis.
37. Give two examples of cash flow from operating activity.
38. What do you mean by Fixed Charges and Floating Charges?"
39. What is the difference between Reserve and Provision ?
40. What is meant by Analysis of Financial Statement?
41. What is meant by Comparative Financial Statement ?

42. Distinguish between preference share and equity share.
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43. State any three differences between shareholders and debenture holders.
44. Why is Cash flow statement prepared?

45, Current ratio is 2: 1. Working capital is Rs. 1,50,000. Calculate the amounts of
current assets and current liabilities. https://www.bsebstudy.com

46. What do you mean by company? State its essential features.

47. Rudra Company Ltd. issued 35,000 equity shares of Rs. 10 each at a premium o f Rs.
2 payable as follows:

On Application Rs. 3
On Allotment Rs. 5

Balance on first call
Record Journal entries.

48. Urvashi Ltd. purchased one established business for Rs. 50,000, payable Rs. 15,000
in cash and the balance by issue of 9% debentures of Rs. 100 at a discount of 10%. Give
journal entries in the books of Urvashi Ltd.

49. From the following data, prepare a statement of profits in the comparative form:

Particulars 31.3.2012 31.3.2013
Rs. Rs.

Sales 6,00,000 8,00,000

Gross Profit Ratio 30% 50%

Administrative Expenses 40,000 1,00,000

Income Tax 50% 50%

50. Calculate the Debtors Turnover Ratio from the following information:

Total Sales Rs. 4,00,000

Cash Sales 20% of Total sales
Opening Debtors Rs. 40,000
Closing Debtors Rs. 1,20,000
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